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The possible energies of the system are the

eigen values of th Hamiltonian , so using an

eigenvalue solver weget
E = W

·
Ec =2hw · Esth

To find a we need to find <M and then
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so our normalized warefunction is
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Now For <YIBIY)
↓ [i3bi]M] combine salas
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Both [41A14) a <NIBI4) are expectation values meaning
they are the average result of many observations but not
necessarily a possible value fora measurement

finally the eigenvectors of I are[ ]
with the first corresponding to the eigen value/energy two
the second two corresponding to the eigenvale/energy ahw

↳ use wolfram or python to figure thiscut
↑ general rule

The eigen rectors of our Hamiltonian form our computational
basis so let's rewrite 147 using these eigenvectors
147

=I
↳ this is the eigenvector
that corresponds to
H



Since to crefficient in front of the engenrector that
corresponds to the new energy state is c = -"lit, then the

probability of measuring the euersy of the system : setting
tw is Paw) : ICK - i: = Pltw)


